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wnaseviuniugi s dnsuanussesd i MEivuuuniug einomial

distribution) fla

v x

P{X =x]

'lummm’w Expected frequency (E:) mm‘lé’mn

i

]

0.01

i file

(:)p"q""‘;x =0,1,..,n
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waifloannd P ldnTue dvamm P lasduwimamanads

{(Mean) a1 \1&

X f (A0 0y X
0 38 0
1 144 144
2 342 684
3 287 861
4 164 656
5 25 125

PRTY 1000 2470

Mean = ');Tgf = %: 2.470
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(x = 07 ll 21 3! 4; 5; R n= 5)
Mean = np
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H, : Ho 03339
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v o] e A 2 6 (04__]3.)1
3. Rdaf ldneravfax? = g S
1 I= i [}
df = wrnmimanfTiuiulu 22— 1 - windieedAdoimsdssaim

mvnieesAdasszanmuaiufiflindy 1 mmssidasdizinmewnieed P
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U\ s Ho
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poutu Ho

%ﬂ”fﬂﬂ

xira = 13.277

5. Fruame 22 lagw E; ldeaft
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2 342 0.3162 316
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1716 Y316 300 st 3
= 25,324 676 484 169 16
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WA Mean WY Standard deviation Iﬂﬁfﬁ'ﬂ

X (fftanma) A £ (A0 0) d fd fd?
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67 42 0 0 0
70 27 1 27 2
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7 100 15 97

|
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-] dwidn o} Classboundaries P(X) Ei = 160 xP(X)
U
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]5 ]4.85
60 - 62 5 62.5 .0446 4.46
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66 — 68 42 68.5 3747 37.47
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_ 2 - 2 - 2 . 2
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_ ~2.61)7 . 2 2 2 2
_ (19) (<261 (433 (=089 (-.19) (=.99)
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